1% BF 2,3%F 57
No K% LR No K% FoER
1 1613 A 1 10.18 922 Nt KB 10.11
654 Rl FEX 1 10.42 644 REE B 10.13
2130 ¥ Bt 1 10.51 1600 BRR 10.25
741 AH & 1 10.55 925 RIS #YF 10.25
1555| fE4 K FiltE 1 11.16 635 N B 10.41
804 A SR 1 11.17 927 B AR 10.44
1545 = £X 1 11.17 1602 pliy;== 34 10.49
322|  BEES ZEKER 1 11.38 1607 KR 10.49
326 ERE W 1 11.38 833 RA  hHE 11.01
1623 L& 1 11.38 1502 BE wF 11.12
802 A0 RN 1 11.40 645 HH RE 11.37
743 B O—& 1 11.49 631| BUAZE BEKREB 11.45
207 N :R=IN 1 11.53 315 LTt 11.46
1552 Bt AE 1 11.53 1608 MaAfER 11.50
1619 RHEXE 1 11.55 314 g EE 11.51
1265 HEE AKX 1 12.42 1609 (INEEPNFS 12.57
803 =L M5 1 12.47 1604 ERE 13.16
1044 1A WEAEER 1 13.31
1046 TE T 1 13.31
1040 KH &g 1 13.32
1043 BT BEARER 1 14.44
1550 mE £ 1 14.49




H@ BF 1.5km
[} No K% i@ FE c#k
1 1308 Wep Tt MEEE| L8 4.53
2 1235 Nl FK MES | H£R@ 4.54
3 920 X& fEXER B | £B 4.58
1234 oA E MES | HB 4.59
1312 EH FE HEFE | L8 5.01
250 ng A FEo| £8 5.04
1823 Sl BB EOR | Ha@ 5.04
2111 =% B PNE | HB 5.12
2110 £ KE PNE | H£B 5.13
1307 AR ER HMEEE | L& 5.15
701 BE =# BA’A HiEd 5.24
406 FEE K TR | &8 5.24
432 A BEHE TR | #E8 5.25
1820 R hiE BOR | HB 5.26
987 IR BE&E BE | &8 5.26
926 i N A 2 BE | &8 5.27
2136 L FE NE | HB 5.27
210 R BEE R £8 5.28
1615 A2 ASHENE RE | #H8 5.29
1326 £F FIL MEFE| L8 5.30
703 iR SR BHa Hi@ 5.31
746 ES BE Ba | HER@ 5.31
2109 S NE | HBE 5.34
1822 - PIER BOR | H£B@ 5.35
975 E2- A | A8 5.35
2129 B FEk Ne | &8 5.36
1322 HREl Xkt MEFE| 48 5.36
407 At iz PR | #H& 5.36
2132 BIE A& NE | HBE 5.37
1825 Bl iR EOR | HE 5.37
213 LA IR FE | #£8 5.38
734 At+E £H BAa | @ 5.38
412 A fef TR | #E8 5.40
923 EAE BA Hid 5.45
1614 INEEN KpE | H£B 5.45
921 HH % BE | A8 5.50
201 B BX FE Hi@ 5.51
419 2B =& HEFR | #£8 5.51
1815 SRR EOR | H@ 5.52
1624 B AKIET KE | #£B 5.52
2125 RS Ne | £8 5.53
928 HH EA BA Hi@ 5.53
982 HHE  EX BE | A8 5.53
918 HE = Ba | A8 5.57
980| EEFR MUKEA A | A8 6.03
212 =B A FE | #£8 6.03
418 &'H BX TR | 8 6.07
414 B BE PR | #H& 6.07
425 e BERE AR | @ 6.09
916| HAGE fAtE B | &8 6.10
1620 e KEE | HB 6.10
710 EH EER BA | @ 6.11
1310 —E & METEE| £8 5.20
744 (SIS PN BA’A Hi@ 5.36
640 iR BHE F— | #*B 5.37
642 E 2= B— | A8 5.37
1508 BREY  /IRER A [ Hid 5.38
1817 F) =R EOR | H@ 5.39
1542 FH BEE N | 5.40
424 W BE TR | #E8 5.41
742 E R BAA Hid 5.43
429 mE KB AR | #£8 5.46
428 #wE B R | #H& 5.46
1622 i _E¥AtE KE | #£8 5.48
1813 XiE B BOR | HB 5.48
638 mE EX F— | B 5.51
422 EE R | #H& 5.53
1617 HAZEX KEE Hi@ 5.54
740 M\ OB BBA Hi\ 5.54
632 WHE B® F£— | #HB 5.56
649 BHE ¥ B— | H£B 5.58
249 BH F# FE | &8 6.00
204 Kk & FE | &8 6.01
1030 Ng kR =R | B 6.03
1814 E BXK BOR | H@ 6.04
633 SH B4 B— | A& 6.05
2101 BA FHKER NE | HBE 6.05




704 =48 2 BA | @ 6.06

9 B i BOR | H@ 6.06
2105 EAR AKX NE | HBE 6.07
206 BB NEE FE | #£8 6.08
2127  EBEFH EX PNE | HB 6.08
1505 A —Z MNE | R 6.09
1509 R i M | B 6.10
1510 EE K M| R 6.11
989|HF &= B8 @ 6.11
2106 I N N | &8 6.12
330 S5 15 e | B 6.18
1543 x5 2 i | HEE 6.36
2102| XF IEKER PE | £8 6.37
1045 hE /7 [ HiE 6.40
1551  Epith  FUKER N | @ 6.43
1548 XFF EAER i | HE 6.44
1824 L R BOR | H@ 6.45
972 BRSO R %3 Hi@ 6.54
1618 HPEA KpE | B 7.07
2126 mE K PNE | HB 7.08
1031 RKRT Eox— =R | A8 7.48
2197 HHER Ne | £8 7.50
1513 A EA N | @ 7.52
1501 E  FE N | 7.55
2134 =% —iA NE | HBE 7.56
1538 ANl EE Wi | B 8.05




1€ ZF 3.0km 15

JIg No K% FiE | 2E| 2k
220 AAR £ 2 1 12.24
686 B EK H— 1 12.48
373 AR EiE NE 1 13.02
1865 A LE EBOIR 1 13.52
850 5K NE HEE 1 14.46

ZF  H@l.5km

I No K4 FiE | ¥FE|
962 =iE BBX B8 |HEB 5.36
966 M EE AR PES ] 5.36
956 IBFE Tk Ba  |(HB 5.38
751 N3] D PES G 5.38
954 e BRE B8 (s 5.40
953 EH LB BaE |(HB 5.49
455 ) = HAr R |HE 5.50
901 T KK B8 (s 5.51
238 N £ wE o0 I PSS 5.54
94 JHEAR =EE B8 |HEB 6.00
968 ST I P4 B8 |HB 6.00
460 EH BX HTR @ 6.06
360 AR FE e |HB 6.07
381 =K E&EH e |HE 6.07
1856 mEE X EOR (@ 6.08
684 MeH EE £— (@ 6.09
912 A =& B |HEB 6.09
461 LB FF HrR |Ha 6.10
1861 F EE BOR | B 6.10
955 XH FE BE | HaE 6.12
226 H B2 ap B PSSt 6.13
907 A B BaE |(HB 6.13
952 A A BE A 6.17
753 HE %A s |HB 6.20
909 ®EE FE Ba  |(HB 6.20
752 N BA Bia  |HiE 6.21
1662 FAAH B IE KEE |HB 6.21
2114 j NIl 1] PE |HE 6.21
372 BE 3 e |HB 6.25
908 Hy ERE AN P ] 6.25
2165 WA B PE |HE 6.27
451 INR B HrR A 6.29
969 HH EE B8 |HE 6.31
2162 TN ) PE |HEE 6.31
225 BH W a0 I P 6.32
1859 AN T EOR (@ 6.32
1047 ER WE (S = P ST 6.34
1869 R (2R EBOR (@ 6.34
2116 KA =28 PE |HEB 6.34
2113 HE B2 PE |HE 6.40
965 KB Z1x3 B3 |HEB 6.42
1511 BH £x DA PG 6.42
1512 (Y= M (8 6.43
223 B xS g (Hd 6.44
1037 B K& =R (B 6.48
958 &F B2 BE  |(HB 6.50
459 EE & HATR |\ 6.54
1660 EBaE KEE |HB 6.54
1870 ME = EOR (@ 6.54
2166 ==y B A ) PE |HE 6.57
957 FIE &I B8 A 6.58
222 A A R | HEE 6.59

2,35 Z¥ 3.0km
2] No K% g | FF| &R
1358 WA BAF T E 2 11.31
2118 12 = P 2 12.10
2117 eI P& 2 12.17
240 B S g 2 12.19
1650 PEAR REE 2 12.20




1049 B & =R | R 6.59
959 R FF B |HE 7.00
964 FE R I S 7.00

1034 RHE BEX = |HE 7.00
970 atE IBX B |HBE 7.01

1651 KEHE REE |8 7.02
93| BER M= L TE I P23 7.03

1656 —HAAR RE |FHB@ 7.04

1867 EeR WE EOR (| HE 7.05

1659 mIE R RE |HB@ 7.06
239 GANTNINES A ([l 7.08
465 (el NI HArR | @ 7.09

1858 g2 BE BOR (F@ 7.09
910 BERE &R w8 e 7.10

1655 FHBRD 3 REE & 7.12
453 HE KRB HFr R |FHE 7.22
963 O HE w8 (e 7.23
769 E G Ebi= I B Sz 7.25

1048| & HhE = | HE 7.26
712 === I 0K Bia [Fd 1.27
911 Wl NE A e 7.27

1868 A #&E A BOR(F@E 8.09




— % B F5.0km

&

No

84

867

124

JI& No K Bi= RO EK
911 a8 KK BB 16.27
6 LT A R BETRR 16.44
131 F#H  —5h METE 16.45
912 BE EE BORIB M 17.23
48 g RF HappinessAC 17.52
986 | R EFERR 18.05
744 58 LA EORT 18.50
264 =i T BRER 19.02
898 Bl fB% N 19.16
267 S =B BRER 19.23
127 FEE EIERER 19.25
5 WEF R BRmRRER 19.35
917 INERE BORIBM 19.42
910 Mg = BB 19.53
30 A OER BORIBM 20.02
269 g X BREMR 20.35
274 R OR BORIB M 20.52
745 XA A EORT 20.57
120 EREE EFERR 21.17
263 M B EEINEi 21.22
122 183l B — B8 BEIERER 21.50
275 B & BEORER 21.57
906 N s BRER 22.12
913 FE (& BORIB M 22.51
265 FElEg Y BREMR 23.10
901 HE RE BORIBM 23.16
262 HE —ih BREMR 23.17
909 e BE BORIB M 24.00
899 EE &KX N 24.02

908

125

752

904

753

905

266

907

126




— 22 F3.0km

K4 = LK

+ B=E S 11.53
H O WED BORE 12.07
A AR, BERR 12.31
INPR TR T3 BORBM 13.04
AR BEERER 13.09
REH =2 BOREE 13.11
ARk R BORGER 13.34
HE 50 ORE 13.41
[ BORGER 14.24
NS 2k BORBM 16.12
&l =i BOREM 16.24
(eSS BEEROR 17.12




I

NFE BF1~4F 15km
JIE No K% g FF L%

209 BAER EHiC 4 HREILAC 5.51
316 K& EBA 4 FERAC 5.52
321 FAR K 4 BERAC 5.54
210 /MR I&KE 4 HEEIILAC 5.58
307 HEEF AR 3 BERAC 6.07
315 Hiw M= 3 BERAC 6.18
301 EX] fE5R 1 BERAC 6.26
102| ®Il fEX 4 BEORY ML 6.35
212 R FRE 4 HEEIILAC 6.42
317 K EF 4 BERAC 6.52
310 XfE EBA 3 BERAC 6.53
318 /A IRE 4 BERAC 6.57
207 Z@Am 2 HEEILAC 6.59
103| &t Rk 4 BRY b 7.01
313 A+ KB 3 FERAC 7.04
309 HEH AT 3 BERAC 7.06
305 & AKX 2 BERAC 7.10
205 f@x A8 2 HEEIILAC 7.14
203  H1HEX 1 HEEILAC 7.18
208 T|EAEKX 3 HAEEILAC 7.18
308 #HE A 3 BERAC 7.21
306| Ehy F1Z 2 BERAC 7.23
211  &HF ®IK 4 HEILAC 7.24
113 AR Rth 4 BORY L 7.29
101 E£A % 1 BERY b 7.33
202 IR K 1 HEEILAC 7.35
206 FEA BRK 2 HEEILAC 7.38
322 &HE A 4 BERAC 7.58
303 faH &A 1 FERAC 8.07
201 EK BRE 1 HEEIILAC 8.09
213 A B 4 HEIILAC 8.48
39| BBt 1 TNEN 9.21
204 bEEP I 2 HEEILAC 9.46







NFE - BF5-64 1.5k m
No K4 ke e ERE>
218 W 2R 5 HEEIILAC 5.17
230 FFH A 6 HAEILAC 5.30
107( JIIE @<z 6 R b 5.37
221  E B 5 #ERIILAC 5.40
323 BBA =N 5 BERAC 5.47
324 BB A& 5 BERAC 5.49
87 FMEE 6 A=\ 5.50
220 /MR EHE 5 HAEIILAC 5.50
338 XH hiE 6 BRAC 5.51
325 K& T 5 BERAC 5.53
327 MR OEA 5 FERAC 5.54
222 EAEX 6 #ERIILAC 5.56
336| A HKX 6 BERAC 5.56
229 BRIl &3 6 HEEIILAC 5.57
228| BAAEB ZA 6 HAEIILAC 5.568
110 2 I 6 BERY b 5.59
106 HA M 5 R b 6.00
85| XRBREA 6 AT\ 6.02
109 & HE 6 BERY b 6.03
214  hnEE =1 5 HEIILAC 6.03
344 REEE PEE 6 BERAC 6.04
215 &I ER 5 HAEILAC 6.07
340 TRE A= 6 BERAC 6.10
337\ WE AKX 6 FERAC 6.11
328 ZEH XK 5 BERAC 6.12
224 iERE FEE 6 HEEIILAC 6.13
3321 B KX 5 BERAC 6.13
111 E D 6 BORY L 6.15
105| Bk =& 5 BERY b 6.16
326 K1z EBA 5 BERAC 6.17
227 FAS &R 6 HEILAC 6.22
335 HH HBA 5 BERAC 6.23
223 M HE =5 6 MEILAC 6.24
219 A E57& 5 HEIILAC 6.31
334 #FHE K#b 5 BERAC 6.34
333 Bl EE 5 BRAC 6.38
32 B 5 iE 2z 6 RN 6.39
40 FEEEX 6 RN 6.42




330 &4 BN 5 BERAC 6.44

7 FEH EZ 5 VANVAAN 6.55
86( Fail  EE—ER 6 AEZN 6.58
225 BAREIK 6 HEEILAC 6.58
112 s ==z 6 BORY b 7.26
108 #LEt BA 6 R R 7.35




I

WNFE BF1~4F 1.5k m
JIE No K4 i FF FCEK

266( M HXTY 4 HEEILAC 6.18
264  @EF 2P 4 #EEILAC 6.20
307 /AR EAE 3 BERAC 7.03
315 HiEF #zx 4 BERAC 7.06
259  AHA Bk 3 HEELAC 7.08
255 REJII Oarc 2 HEEILAC 7.11
257 YFH EH 3 AHEILAC 7.11
258 A % 3 #EEILAC 7.11
263 TR 3 #EEIRAC 7.13
267 L& ER 4 #EEILAC 7.13
261 IR 1z 3 HEEILAC 7.15
262 R BEx 3 HEEILAC 7.22
305 &R AT 3 BERAC 7.23
312 AiEs M= 4 BERAC 7.23
313 JI®E Xit 4 BERAC 7.30
304 His 5z 2 BERAC 7.35
256  _Efé BRI 2 HEEILAC 7.39
253 /MR R 2 HEEILAC 7.59
303 BA& FMR 2 BERAC 8.01
314 TXReE =M 4 BERAC 8.21
254  [AE = 2 HEEILAC 8.45
265 Rk & 4 HEEIrAC 8.45
252 B B 2 HEEIRAC 9.40




NFE S FL-6F 1.5k m
No K4 ke FiriE ERE>

271 =8 k% 5 HEEILAC 5.45
326 oL 1K 6 BRAC 5.55
320| fhlE FEAE 5 BERAC 6.05
322 JE® Em 5 BERAC 6.05
275 EXE far 6 HEILAC 6.15
321| ZAlL #39FE 5 BERAC 6.18
251 Rl 2 6 AR IrAC 6.19
235 KAR BB 6 HEEILAC 6.32
268 i 3SR 5 HEILAC 6.38
269 E ZBH N 5 HEILAC 6.46
318 MEH &F 5 BERAC 6.46
233 =EH B5EM 6 HEILAC 6.51
270 R 5 ErILAC 6.51
327 MIEA HETF 6 BERAC 6.53
274 e BY 6 AR Ir.AC 6.54
234 [ EF 8 3 6 AR IrAC 7.00
325 L = 5 BERAC 7.15
273 RE EiE 5 AR IrLAC 7.30
272 LE&B X 5 HEILAC 8.54




